Numbers Involving Indices Practice

1) 32 = 

2) 24 = 

3) 53 = 

4) 105 = 

5) 2a = 64, a = 

6) 4b = 64, b = 

7) 6c = 36, c = 

8) 12d = 12, d = 

9) 23 x 32 = 

10) 102 x 53 = 

11) 25 x 52 = 

12) 24 x 23 = 

13) 32 x 34 = 

14) 22 x 23 x 22 = 

15) 32 x 33 x 34 = 

16) 103 = 

17) 102 = 

18) 101 = 

19) 100 = 

20) 70 = 

21) 180 = 

22) (0 = 

23) x0 =

24) 10-1 =

25) 10-2 = 

26) 10-3 = 

27) 6 x 103 = 

28) 1.4 x 103 = 

29) 6 x 106 = 

30) 2.6 x 102 = 

31) 4.87 x 104 = 

32) 5.1 x 1013 = 

33) 9.03 x 101 = 

34) 8.005 x 100 = 

35) 5 x 10-1 = 

36) 5.2 x 10-1 = 

37) 4.9 x 10-2 = 

38) 7 x 10-6 = 

39) 8.04 x 10-9 = 

40) 5 x 102 x 3 x 103 = 

Numbers Involving Indices Practice – Answers
1) 32 = 9

2) 24 = 16

3) 53 = 125

4) 105 = 100,000

5) 2a = 64, a = 6
6) 4b = 64, b = 3
7) 6c = 36, c = 2
8) 12d = 12, d = 1 

9) 23 x 32 = 8 x 9 = 72
10) 102 x 53 = 100 x 125 = 12,500
11) 25 x 52 = 32 x 25 = 800
12) 24 x 23 = 16 x 8 = 128
13) 32 x 34 = 9 x 81 = 729
14) 22 x 23 x 22 = 4 x 8 x 4 = 128 (= 27)
15) 32 x 33 x 34 = 9 x 27 x 81 = 19,683 (= 39)
16) 103 = 1,000
17) 102 = 100
18) 101 = 10
19) 100 = 1
20) 70 = 1
21) 180 = 1
22) (0 = 1
23) x0 =1
24) 10-1 = 0.1
25) 10-2 = 0.01
26) 10-3 = 0.001
27) 6 x 103 = 6 x 1,000 = 6,000
28) 1.4 x 103 = 1.4 x 1,000 = 1,400
29) 6 x 106 = 6 x 1,000,000 = 6,000,000

30) 2.6 x 102 = 2.6 x 100 = 260
31) 4.87 x 104 = 4.87 x 10,000 = 487,000
32) 5.1 x 1013 = 5.1 x 10,000,000,000,000 = 51,000,000,000,000

33) 9.03 x 101 = 9.03 x 10 = 90.3
34) 8.005 x 100 = 8.005 x 1 = 8.005
35) 5 x 10-1 = 5 x 0.1 = 0.5
36) 5.2 x 10-1 = 5.2 x 0.1 = 0.52
37) 4.9 x 10-2 = 4.9 x 0.01 = 0.049
38) 7 x 10-6 = 7 x 0.000001 = 0.000007
39) 8.04 x 10-9 = 8.04 x 0.000000001 = 0.00000000804
40) 5 x 102 x 3 x 103 =5 x 100 x 3 x 1,000 = 15 x 100,000 = 1500,000
